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Instruction : First 15 minutes are allotted for

the candidates to read the

question paper.
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Note : i)  All questions are compulsory.

n)  Hlustrate  your  answers  with

labelled diagrams wherever
NCCeSsary.

m) Marks allotted to cach question

are mentioned against it.
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@) TR A WG S O qeie 1 apsen o
] I° 4 I WEEE H AT [ 1. Choose the correct option and write in

[ o N
TRAE T s g
your answer-book :

A) Polyadelphous condition is found in
i}  Epicalyx

1)  Gynoecium

v R 1
T el § @ 9 oy & . _ iii) Androecium
< B 5 W B E 7 iv) Corolla. ]
) wfeamm ii) drfaas B) Nitrate present in the soil is reduced
. b '//
1) ol iv) TR | 1 to nitrogen by
g) fgfmes § :
) Tefmas o et & i) _Rhizobium
i) V&
1) Azotobacter
ii) s o

N s e iii) Pseudomonas
: A ax iv) Allof t :
Iv)  SFETgAEST UMl g | . ) hese
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C)  Which of the following plays role in . TR T 5 T hall quﬂ
opening and closing of stomata ? £ .
i) Calcium 3. What is the role of cyanobacteria in the
) soil fertility ? 1
11} Potassium
4. TR EHETEATES w1 e 2 1
i) Iron
4. What is leguminous haemoglobin ? 1
iv) Sulphur. 1 5. 9@ AE #4127 1
Wl r. H ] 4
D) Double fertilization occurs in 5. What is food-web ? 1
i) Algae 6. S O = E ) 1
i1) Fungi 6. What is isotonic solution ? 1
iiij) Angiosperms 7. YN G FeA £ 7 G U UER & U
. %mﬁ?;[rlg{ | l+1l
iv) Gymnosperms. 1 22
2.  FHIfAfRHTH 1 ? 1 A
2. What is ammonification ? 1 QTR &1 6791 0 701 & A | fafeu |
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7. What is endosperm ? Describe any onc of 9. What part of the photosynthetically °
its tvpes. é + ]% active radiation (PAR} is trapped by
plants ? 2
OR

Describe the structure and properties of

Terd A I FIAT | 2
enzvmes. 9
10. Describe some suitable measures for the
8. TFHAIEIET H1 AV S 1+1 improvement of food production in brief.
F) FTIATE 2
. 11. f=feiea &1 faufea S 1+ 1
) FA gug | _
F) AR a1 EgeE
8. Describe the following : 1 +1 .
F) Touor vd W |
a)] Hydroponi : .
) " porics 11. Differentiate between the following :
b) Water potential. 1+1
9, /Ty FYEnI TR @ A 9 O a) Transpiration and Guttation
FEAE 7 5 b) Diffusion and Osmosis.
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12. Whatis the importance of vernalization 2
on :

]&ﬁ‘ﬁ'ﬁﬁaﬁzmﬂqﬁtﬁm}mwj 2
, 2

Aaar

|
1+1

13. Describe any two insectivorous plants. 2
OR

What is fermentation ? Describe lactic
acid fermentation.

1+1
/"/m F AP % fa g @ v
T |
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14. Describe
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of ccolﬂ'gical

2

different steps

succession.
OR
1+1

wing:
Write short notes o1 the following

a) Solid waste management

b) Ozone depletion.

~ 5 . 1 l
15, frefeiEs & 3 g 15+ 15+ 2

q) T I 7

RUBCEREecE 3
hitp://www.upboardonline.com
ear
e S
5 TRERE H ey

%?w_ﬁﬁﬁmﬁmm | 1
+4



1
H 377(Gz)

sttt R T T g

15. Answer the following: 1%+ E-;-+ 5 P+ 14141+1

a) Write the F)  AgyUTdl

importance of planl

G GE R g
hormones. ) T
) FEa
b)  What is root pressure ? 7) U § Wigd S
- §) HA-FEA |

Is vegetative reproduction ?
6. What is air pollution ? What are the

OR causes of air pollution ? Discuss its
effect on human health. 1 +2+2
What is the function of chlorophyll in OR -
photosynthesis process ? Describe its Write short niotes on the following :
I1+1+1+1+1
light reaction. 1+4
a) Polyembryony
m 1 & 7 A AT F FRO K § 2 b) Gibberellic acid

c) Lenticel

T @l X 39 TG &l {oare 1 S | \
’ d) Conserved energy in ATP,

1+2+2 €] Bt-crops.
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